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Rearrangement of Sentence Questions for IBPS Clerk 

Pre, SBI Clerk Pre, RRB Asst. Pre 

Rearrangement of Sentence 10 

Directions: In the questions given below, a sentence has been broken down into 

four fragments labeled (A), (B), (C) and (D) and arranged, not necessarily in the 

correct order. You have to find the correct order of arrangement from the 

options given below. In case, the sentence is correct in its original form, please 

select (E) as your answer. 

 

1. Sides like in commercial disputes between big firms, but the (A)/ low-wage 

occupations, is often anything but even (B)/ arbitration works well when power 

is balanced between the two (C)/ balance between an employer and an 

employee, particularly in (D) 

A. CADB   B. DCBA   C. CBDA  D. BADC  
E. No rearrangement required 
 

2. Ways, in particular by exploiting a “grey zone” where aggression and coercion 

(A)/ neither China nor Russia wants a direct military confrontation with America 

(B)/ that they would surely lose but they are using their growing hard power in 

other (C)/ work just below the level that would risk military confrontation with 

the West. (D) 

A. BCDA   B. CBDA   C. ACBD  D. BCAD  
E. No rearrangement required 
 

3. Companies viable since most of the foreign acquisitions by Indian companies 

(A)/ the world are calculated on the basis of net present value and probable 

reserves. (B) are done through loans taken abroad, and valuation of the oil 

assets all over (C)/ the rise in oil prices makes takeovers of oil blocks by Indian 

oil and natural gas (D)/ 

A. DCBA   B. DACB   C. ADCB  D. DBCA  
E. No rearrangement required 



 

 

 

4. between January and May, outflows from (A) / highest level in 10 years, and 

by June 4, $6.7 billion was (B) / pulled out on a net basis from the domestic 

capital market (C) / foreign portfolio investors have reached their (D) 

A. BDAC   B. ADBC   C. CBDA  D. DACB  
E. No rearrangement required 
 

5. opted for a hike in key interest rates by 25 basis points (A) / at the end of an 

unusually long three-day meeting, (B) / which is the first such increase in four 

and a half years (C) / the Monetary Policy Committee of the Reserve Bank of 

India (D) 

A. CBDA   B. BACD   C. BDAC  D. DCAB  
E. No rearrangement required 
 

6. in the making, the problem of lax corporate governance, (A) / the present 

crisis, still remains largely unaddressed by the government (B) / while it is quite 

true that the present bad loans crisis has been a long time (C) / which has 

plagued public sector banks and contributed to (D) 

A. ABDC   B. CADB   C. CBDA  D. ADBC  
E. No rearrangement required 

7. but it’s leaving behind more carbon footprint (A) / ordering in the day’s meal 

is a convenient (B) / than you think, and contributing to overflowing landfills (C) 

/ option and food is just a click away, (D) 

A. CABD   B. CBDA   C. BACD  D. BDAC  
E. No rearrangement required 
 

8. severe bad loans crisis may be much farther (A) / beyond the horizon than 
previously anticipated (B) / if the financial performance of India’s largest (C) / 
lender is anything to go by, an end to the (D) 

A. CABD   B. DBAC   C. CDAB  D. DACB  

E. No rearrangement required 



 

 

9. For the government at the Centre gearing (A) / the pressure to check fuel 

prices is intensifying (B) / up for several Assembly elections this (C) / year 

followed by the general election in 2019, (D) 

A. ACDB   B. ABDC   C. DBCA  D. BADC  
E. No rearrangement required 
 

10. chose the platform of the Shangri-La Dialogue (A) / it is significant that in 

Singapore Mr. Modi (B) / region to emphasize Indian strategic autonomy (C) / of 

defence leaders of the Asia-Pacific (D) 

A. BCDA   B. BADC   C. CBDA  D. DACB  
E. No rearrangement required 
 

Correct answers: 

1 2 3 4 5 6 7 8 9 10 

A D B B C B D C A B 

 

Explanations: 

1. On looking at the fragments, we find only C suitable as the first fragment- 
 
Connectors: 
 
C and A: 
C: Arbitration works well when power is balanced between the two 
A: sides like in commercial disputes between big firms, but the 
 
A and D: 
A: sides like in commercial disputes between big firms, but the 
D: balance between an employer and an employee, particularly in 
 
D and B: 
D: balance between an employer and an employee, particularly in 
B: low-wage occupations, is often anything but even. 
 
The correct sequence is C-A-D-B. 
 
Hence, option A is correct. 



 

 

 

2.  Only B fits in as the first fragment as the rest are continuation of other fragments. 
 
Connectors: 
 
B and C: 
B: Neither China nor Russia wants a direct military confrontation with America 
C: that they would surely lose but they are using their growing hard power in other 
 
C and A: 
C: that they would surely lose but they are using their growing hard power in other 
A: ways, in particular by exploiting a “grey zone” where aggression and coercion 
 
A and D: 
A: ways, in particular by exploiting a “grey zone” where aggression and coercion 
D: work just below the level that would risk military confrontation with the West. 
 
The correct sequence is B-C-A-D. 
 
Hence, option D is correct. 
 
 

3. Only D fits in as the first fragment as the rest are continuation of other fragments. 

 
Connectors: 
 
D and A: 
D: The rise in oil prices makes takeovers of oil blocks by Indian oil and natural gas 
A: companies viable since most of the foreign acquisitions by Indian companies 
 
A and C: 
A: companies viable since most of the foreign acquisitions by Indian companies 
C: are done through loans taken abroad, and valuation of the oil assets all over 
 
C and B: 
C: are done through loans taken abroad, and valuation of the oil assets all over 
B: the world are calculated on the basis of net present value and probable reserves. 
 
The correct sequence is D-A-C-B. 
 
Hence, option B is correct. 
 



 

 

4.  The first fragment is clearly A as none of the others make sense when kept as the 
beginning statement. 
 
Connectors: 
 
A and D: 
A: Between January and May, outflows from 
D: foreign portfolio investors have reached their 
 
 
D and B: 
D: foreign portfolio investors have reached their 
B: highest level in 10 years, and by June 4, $6.7 billion was 
 
B and C: 
B: highest level in 10 years, and by June 4, $6.7 billion was 
C: pulled out on a net basis from the domestic capital market 
 
The correct sequence is A-D-B-C. 
 
Hence, option B is correct. 
 
 

5. The first fragment would be either B or D. However, B is a better fit as if D is kept as the 
first fragment, B would not fit elsewhere. 
 
B and D: 
B: At the end of an unusually long three-day meeting, 
D: the Monetary Policy Committee of the RBI 
 
D and A: 
D: the Monetary Policy Committee of the RBI 
A: opted for a hike in key interest rates by 25 basis points 
 
A and C: 
A: opted for a hike in key interest rates by 25 basis points 
C: which is the first such increase in four and a half years 
 
The correct sequence is B-D-A-C. 
 
Hence, option C is correct. 
 
 



 

 

6. The first fragment is clearly C as no other option fits in well. 
 
Connectors: 
 
C and A: 
C: While it is quite true that the present bad loans crisis has been a long time 
A: in the making, the problem of lax corporate governance, 
 
A and D: 
A: in the making, the problem of lax corporate governance, 
D: which has plagued public sector banks and contributed to 
 
D and B: 
D: which has plagued public sector banks and contributed to 
B: the present crisis, still remains largely unaddressed by the government 
 
The correct sequence is C-A-D-B. 
 
Hence, option B is correct. 
 
  

7. The only viable first fragment is B. No other fragment fits in. 
 
Connectors: 
 
B and D: 
B: Ordering in the day’s meal is a convenient 
D: option and food is just a click away, 
 
D and A: 
D: option and food is just a click away, 
A: but it’s leaving behind more carbon footprint 
 
A and C: 
A: but it’s leaving behind more carbon footprint 
C: than you think, and contributing to overflowing landfills 
 
The correct sequence is B-D-A-C. 
 
Hence, option D is correct. 

 

 



 

 

8.  Of all fragments, only C can be the first fragment as the others start mid sentence and 
do not make sense. 
 
Connectors: 

 
C and D: 
C: If the financial performance of India’s largest 
D: lender is anything to go by, an end to the 
 
D and A: 
D: lender is anything to go by, an end to the 
A: severe bad loans crisis may be much farther 
 
A and B: 
A: severe bad loans crisis may be much farther 
B: beyond the horizon than previously anticipated 
 
The correct sequence is C-D-A-B. 
 
Hence, option C is correct. 

 
 

9. The only fragment that fits in as the first fragment is A. 

 
Connectors: 

 
A and C: 
A: For the government at the Centre gearing 
C: up for several Assembly elections this 
 
C and D: 
C: up for several Assembly elections this 
D: year followed by the general election in 2019, 
 
D and B: 
D: year followed by the general election in 2019, 
B: the pressure to check fuel prices is intensifying 
 
The correct sequence is A-C-D-B. 
 
Hence, option A is correct 

 
 



 

 

10. The first fragment is clearly B. The rest do not provide a valid starting point. 
 
Connectors: 

 
B and A: 
B: It is significant that in Singapore Mr. Modi 
A: chose the platform of the Shangri-La Dialogue 
 
A and D: 
A: chose the platform of the Shangri-La Dialogue 
D: of defence leaders of the Asia-Pacific 
 
D and C: 
D: of defence leaders of the Asia-Pacific 
C: to emphasize Indian strategic autonomy 
 
The correct sequence is B-A-D-C. 
 
Hence, option B is correct. 
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